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2017

ZOOLOGY
( General )

( Cell Biology, Genetics and Developmental
Biology )

Full Marks : 80
Time : 3 hours
-".  The figures in the margin indicate full marks
for the questions
Answer ecither in English or in Assamese

1. Answer the following as directed : 1x10=10
o frarcared e SR B for

(a) What is the average cell cycle span for
a mammalian cell?

TR 2N (PR GOR TS efeen S R 2

. (b) What is mesosome?

RE 52

(c) Who discovered Golgi bodies?
T A e wRkeR FRfRE 2
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(2)

(d) Define pleiotropic gene.

g P R wige forn |

fe) Both animal and plant cells have a
well-defined cell wall.
( Write True or False )

N o SRw Tow (FIRTe (WY NI
QI A8 HRIAT AT |
' ( 3@ =A% =T forar )

Hj] Robert Brown discovered the cell.
( Write True or False )

it A @ SRER IR |
( 3T@) Fi%A =379 fort )

(g9 The process, by which eggs are
formed is called .

( Fill in the blank )
2R @1 =S ____ @
(e S 9@ T )

(h) If the distance between the two genes,
decreases the possibility of linkage

( Fill in the blank )
Tt 701 B R R I, i SRererR
WA |

(< R o 1 )
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(3)

(i) The coupling and repulsion theory
was proposed by

(i) Morgan and Caétle
(i) Bateson and Puneet
(iii) Morgan and Sutton

" (i) Sutton and Meiser
( Choose the correct answer )

e WF ReERn Tom @A oRdw
FRRfRe 2 '
(i) TR S @A
(i) o= SF TG -
(iii) TN ST o1
(iv) oA WF TS
(o= Teh MR Tférea )

() The sex of the child is determined by
(i) X-chromosome

(i) Y-chromosome
(i) the size of the sperm

(iv) the size of the ovum
( Choose the correct answer )
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(4)

freg vt AR I 632
() X-&FV&Y
(i) Y1
iv) e .
fo) e (% Texchr AR Bfevea )

2. Answer the following ' questions very’

briefly : 2x5=10 -~

S LT S 5y T faan - |

(a) What is G, phase of cell cycle?
(I 5& G, ™0 2

(bp) What is sex chromosome?
forel T I @A 2

(c) What do you mean by sex-linked
inheritance?

reet-sreae 3ol wew & g 2
(d) What is bivalent?
| JAF FIF QXA ?
(e) Define fertilization.
- e e o o

8A/162 ( Continued )



(5)

3. Write the differences between the
following (any foun : 5%x4=20
e fRal R I BIRER =14 _ﬁm :

(a) ‘Passive transport and  Active
transport
fafien Rez o A ARI=

(b) Prokaryotic and Eukaryotic cells
IR TF LT (PR

() Rough and Smooth 'endoplasmic.
reticulum
P SR ST e W

' (@ Isolecithal and Telolecithal eggs

R et I (e cefeeee oy

(e) Spermatogenesis and Oogenesis
wFE e e

() X-chromosome and Y-chromosome
X-F TG AF Y-FTET |

4. Answer the following questions :  10x4=40
o erpT T o

(a) () Describe the structure ‘and
" functions of plasma membrane.
5+5=10 -

@ERANT 1 F PR I 3]0 1

'8A/162 ( Turn Over )



(6)

Or/ T

(i) List the main differences between
mitosis and meiosis. Why is
meiosis called reduction :
division? ‘ 8+2=10 -
TWEPR wE A @r Remw
e A4 NLFPTR forn 1 frerfor G
Rereme 7 2 Rerem Qe 2

(b) () What is mutation? Describe
harmful and beneficial effects of .

mutation. | 4+6=10
Beoifiedy 7 BeofRedm wfiEedl
F ol AORRAT 96 3941 |

Or/ &

(i) Describe the mechanism of sex-
linked inheritance in human. 10

T Fres-smmy qenafe ofdmm 3
T _

(c) (i) What fio you mean by organizer?
Explain organizer with suitable

examples. - 2+8=10 °*
AT T R 3012 Soe v
TS RIS AT 377 |
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(7))

Or/#&1

(i) What do you mean by giant

(@ ()

@

8A—6000/162

chromosome? Describe lamp-
brush chromosome with suitable
diagram. 2+8=10
e FVEY IF QA ? e s
ZHS ETEIR F X T I 4

Write an account on formation of
extra embryonic membranes in
mammal. 10

T AN SRS FARIT 15 @RI
feraR e o1 G foran

Or/ 1%
What is linkage? Describe
complete and incomplete

linkages with suitable examples.
2+8=10

wﬂwmv%wﬁwa
ﬂﬂq‘fﬂwwﬁwaﬁ
Lo
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